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Control Chart Analysis

To analyze the control charts it is important to remember that the data is represented over

six standard deviations, there are three standard deviations from the mean line to
the upper control limit and three from the mean to the lower control limit. To
help analyze the charts, it is important to divide the chart area into six sections A,
B, and C representing the standard deviations.
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[image: image2.png]To interpret the data we first look at the R chart. The R chart represents the variety in the
data and if the variety is to great than there is no need to look at the X control chart.

The chart is out of control if one or a combination of the following occurs:

1. If one point falls outside of the 3 sigma control limits (beyond zone A)
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2. If two out of any three successive points fall in zone A of the same side

006275
00627
0.06265
0.0626
006255 |-
0.0625 4=
006245
0.0624
006235 ‘

00623 T
0 5 10 15

3. If four out of any five successive points fall in or beyond zone B of the same side
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[image: image3.png]4. Ifeight successive points fall in or beyond zone C of the same side
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Now to analyze the co-ops X bar and R control charts we begin with the R chart.

Range Calculation
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The R control chart does not have any of the four variables that would make it out of
control. Thus we would say that the R chart is in control and next look at the X Bar

Chart.
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The X bar Chart is out of control because it complies with the first item that makes a
control chart out of control — points beyond the A zone (beyond the UCL or the LCL).





